Review Questions

Chapter 1: Introduction: Futures and Options Markets

Chapter 2: Futures Commission Merchants, Futures Exchanges, and Clearinghouses



A futures contract is a legal agreement between a buyer and seller governing the         future delivery of the specified commodity, financial instrument, index or other underlying instrument. A. True B. False



A principal function of a futures exchange is to: A. Conduct cash business. B. Provide a trading market for foreign exchange. C. Make it possible for hedgers to transfer unwanted price risks.



Of the following advantages of futures markets, one is not true.  Mark that one.        A. Hedging is made possible.  B. The price of the finished product is likely reduced to the public.  C. Large quantities of risk capital are attracted to one location.  D. Futures exchanges act as a focal point for the dissemination of statistics and other information.  E. The value or “worth” of a commodity is constantly being established.  F. Sellers can choose who will receive deliveries on a futures contract.  G.  The cost of financing commodities is lowered.



All members of futures exchanges are individuals.  A. True.  B. False.

Disputes between members of an exchange and non-members are usually settled by:    A.  The Business Conduct Committee of that exchange.  B.  The CFTC.  C. The Committee on Arbitration of that exchange.



An exchange Floor Committee is concerned with:  A. Margin calls not being met.       B.  A side deal between two brokers.  C.  The size of the trading floor.  D. All of the above.



The organization that establishes settlement prices daily is:  A. The CFTC.  B. The clearinghouse of the respective exchange.  C.  The exchange.  D. None of the above



The time of delivery on a futures contract is generally determined by:  A:  Contractual agreement between the buyer and seller.  B. The seller, within the rules and regulations of the exchange on which the delivery is being made.  C. The USDA.  D.  The Commodity Exchange Act.



A long can refuse to accept delivery of a commodity of lower quality that the contract grade at a discount specified in the rules of the futures contract.  A. True.  B. False.



The hedger’s principal motivation for using the futures markets is: A. To earn speculative profits.  B. To transfer the risk of price changes.  C. To find out the future price.



Termination of futures contracts by delivery of the physical commodity of all futures traded averages approximately:  A. 10%.  B. 50%.  C. 2%.  D. 25%.



When one takes delivery of a commodity on a futures contract, he will instantly receive:  A. A delivery notice.  B. The actual commodity at his place of business of home.  C.  His choice of A or B.



The cash deposit put up by approved clearinghouse members to be used, if necessary, to meet the financial obligations of  a defaulting member is called:  A. “Good faith” deposit.  B. Guaranty deposit.  C. Slush fund.  D. Emergency fund.  E.  None of the above.



Cash-settled futures:  A. Are not permitted in the U.S.  B. Are used only for agricultural futures.  C. Require that there be an accurate and independent source of cash prices.



Futures commission merchants are not permitted to carry partnership, custodial or fiduciary accounts.  A. True.  B. False.



For an individual customer’s account, documentation includes:  (1) A New Account Information form; (2) A Commodity Account Agreement form; (3) A Risk Disclosure Statement; and usually (4) A Transfer of Funds Authorization.  A. True.  B. False.



The Commodity Account Agreement, which the customer signs when opening a new account, permits the carrying commission house to:  A. Have control over money in the account.  B. Liquidate an open position to meet a margin call.  C. Have power of attorney over the account.



A bid to offer by a floor broker may be accepted by:  A. Only certain floor brokers.    B.  Any floor broker or trader.  C. Only a floor broker holding an order.  D. The floor brokers who have previously announced the delivery month in which they will make bids or offers. 



If a customer dies, his account executive should cancel all of the customer’s unfilled orders. A. True.  B. False.



Which of the following is essential to the operation of a successful futures contract based on a physical commodity:  A. Viable spot or actual market to trade in the same or comparable cash commodities as those of the futures market.  B. Competitive market conditions in both production and distribution channels.  C. Procedures to prevent manipulation.  D.  Access to inspection and grading facilities.  E. Active trade participation.  F. All of the above.



Who determines the size, grade, delivery location, and delivery months of a futures contract?  A. The CFTC.  B. The exchange on which it is traded.  C. The USDA.      D. The National Futures Association.



The speculator uses the futures markets to:  A. Earn trading profits.  B. Lower raw material costs.  C. Earn interest.



The price at which a futures contract is bought or sold is determined  by:  A. A committee of the exchange.  B.  The CFTC.  C.  Prearranged agreements by the floor brokers.  D.  The floor broker on the exchange trading floor E. Open bids and offers on the exchange floor.



The clearinghouse is the guarantor of the financial integrity of every contract open on its books.  A True.  B. False.



The clearinghouse hold any profits on the futures positions it has cleared until the positions are closed.  A.  True.  B. False.



Transactions rejected by the clearinghouse because of discrepancies must be resolved before or on the opening of the next trading day.  A. True.  B. False.



All clearinghouses collect initial margins on the basis of net instead of gross positions.  A. True.  B. False.



Which of the following prices does a clearinghouse use in paying or collecting variation margins?  A. Closing price.  B. Average of high and low prices.                    C.  Settlement price.  D. Opening price.



In an omnibus account, a non-clearing firm allows a clearing member to keep its individual account records and transact business through each account separately.     A. True.  B. False.



Any position open after the last trading day for that futures contract must be settled by delivery or, where applicable, cash settlement.  A. True.  B. False.



A floor broker must register with the NFA:  A. Every 6 months.  B.  Annually.          C. Once, when he first begins trading.



The department of a brokerage firm responsible for keeping its customers informed about market situations and trading possibilities is the:  A. Order Department.           B. Research Department.  C. Margin Department.



The activity of speculators in futures markets:  A. Increase trading volume.               B. Provides needed liquidity.  C. Enables the filling of orders with a minimum of price disturbance.  D. All of the above.



It is the existence of the clearinghouse that makes possible the closing out of a futures position by an offsetting market transaction.  A. True.  B. False.



Only persons who own or lease seats on an exchange may buy and sell futures contracts on its trading floor.  A. True.  B. False.



CFTC regulation provide that customer funds must generally, but mot always, be segregated from the firm’s propriety funds.  A. True.  B. False.



Which of the following cannot be a member of a futures clearinghouse?                     A. Individuals.  B. Corporations.  C. Cooperative organizations.  D. Non-members of the exchange. 



Arbitrage:  A. Is normally very risky.  B. Is the simultaneous sale of the same item in two different markets.  C. Is the simultaneous purchase of the same item in two different markets.  D. Is the simultaneous purchase and sale of the same item in two different markets.



Which of the following types of customers should scrupulously avoid receiving delivery on a futures contract?  A. A trade long.  B. A speculative long.  C. A trade short.  D. All of the above.



A statement sent to a customer of a FCM than informs him or her of the financial result of a completed futures transaction is called a:  A. Monthly Statement.  B. Confirmation Statement.  C. Purchase-and-Sale Statement.  D. Margin Statement.





Chapter 3: Managed Futures, Commodity Trading Advisors and Commodity Pool Operators



A CPO operating tow or more pools typically combines the assets of all the pools.    A.  True.  B. False.



All CPOs are required to provide participants with monthly statements.  A. True.       B. False.



The CFTC has authority to require commodity trading advisors and commodity pool operators to disclose to their clients all futures market positions taken or held by the individual principals of their organizations.  A. True.  B. False.



Commodity pools are normally formed as limited partnerships.  A. True.  B. False.



The disclosure document used by a CPO or CTA cannot be older than:  A. One month.  B. One year.  C. Six months.  D. Three months.



Under no circumstances may a CPO use hypothetical results in advertising.  A. True.  B. False.



The risk disclosure documents CPOs and CTAs are required to provide potential clients must disclose:  A. The background principals of the firm.  B. Information on the performance record of the firm’s principals.  C. Conflicts of interest.  D. All of the above.



Profitability is the only factor potential investors should consider in reviewing a CTA’s risk disclosure document.  A. True.  B. False.



A firm engaged in publishing futures advice in a newsletter is not required to register as a CTA.  A. True.  B. False.



A CPO, but not its employees, must register with the CFTC.  A. True.  B. False.



“Managers of managers” in futures trading:  A. Are not required to be registered under the Commodity Exchange Act.  B. Must register as a CPO.  C. Must register as a CTA.  D. Can be registered as either a CPO or CTA.



A “qualified eligible participant,” if an individual, must meet one of the following:      A. Must hold $2 million, excluding personal residences.  B. Must have deposited $100,000 in exchange-specified initial margin at an FCM during the previous six months.  C. Must own his own residence and hold $1 million in U.S. government securities.



The CFTC does not permit CPOs to change incentive or performance fees.  A. True  B. False.



A CTA may charge the following fees:  A. An incentive fee.  B. A management fee.  C. Commissions.  D. A and B only.  E.  A, B, and C only.



CTAs must register with the CFTC unless:  A. They have provided advice to 15 or fewer persons during the last year and do not hold themselves out as providing trading advice.  B. They have not made money during the past 12 months.  C. They are registered with NASD, although their principal business is commodity trading advice.  D. A and C.



Commodity trading advisors are required by the CFTC to disclose to their customers the actual performance only for the preceding year of the accounts (including pools) they direct.  A. True.  B. False.



The forms to open a managed account at an FCM are:  A. Exactly the same as for any other account.  B. Completely different for any non-discretionary account.  C. The same as any other account with the addition of a discretionary account form.  D. None of the above.



CTAs that are not FCMs may not accept funds in the trading advisor’s name from a client trading futures and futures options.  A. True.  B. False.



Only the written advertising of CPOs and CTAs is subject to NFA rules.  A. True  B. False.



The Securities and Exchange Commission plays no role in the sale of interests in a commodity pool.  A. True.  B. False.





Chapter 4:  Futures Market Basics





Grain futures contracts are expressed in terms of:  A. Number of pounds.  B. Number of bushels.  C.  Dollar value.



A sell stop-limit order at 41-1/4 could not properly be executed at:  A. 41-3/4.           B. 41-1/2.  C. 41-1/4.  D. 41-1/8.



A buy-stop order is placed:  A. Below the market.  B. Above the market.  C. At the market.



Cash grain prices normally are at a premium to futures when:  A. The harvest is at its peak.  B. There is a current shortage of the commodity.  C. Supply of and demand for grain are in approximate balance.



The words “not held”  added to an order give the floor broker limited discretion in executing it on most exchanges.  A. True.  B. False.



Cash and futures prices tend to converge at or during:  A. The month of delivery.      B. The first notice day.  C. Times of supply shortage.  D. When a new contract is first listed for trading.



If a new long buys from a new short, open interest:  A. Stays the same.  B. Decreases.  C. Increases.



When a daily price limit has been reached, trading:  A. Must stop.  B. May take place at the limit price or within the permitted daily price range.  C. May take place only off the exchange floor.



An order to buy at a price above the present market or to sell at a price below is best described as a :  A. Stop order.  B.  Fill-or-kill order.  C. Market-if-touched order.     D. Limit order.



A market order is:  A.  to be executed at any price prevailing in the market that day.  B. To be executed immediately at the best possible price existing when the order reaches the floor.  C.  Good for one day only.  D.  Good until cancelled.



A “limit order”:  A. Limits the number of futures contracts to be bought or sold.  B. Limits the price at which the order may be executed.  C. Limits the number of people who may take the other side of the order.  D. Limits the liability of the broker.



Trading volume is defined as the total number of purchases or sales of futures contracts during a specified period.  A. True.  B. False.



A fill-or-kill order (FOK) should be executed:  A. At any time during the trading  season.  B. At the discretion of the floor broker.  C.  Immediately, or be cancelled.     D.  None of the above.



An order that has no instructions as to time duration is construed as:  A. An open order.  B.  A day order.  C. A limit order.  D. A contingent order.



Daily price limits are set to restrict the price differences between nearby and distant delivery methods.  A. True.  B. False.



Futures price tables include:  A. Open Prices  B. Daily high prices.  C. Daily low prices.  D.  All of the above.



If, during a trading session, variable price limits are in effect and trading occurs, the next day:  A. Limits will revert to normal.  B. Limits will be removed altogether.       C. Limits will be in effect as provided by exchange rules and depending on the current day’s settlement price.



During a trading session where variable price limits are in effect, trading occurs:        A. With price limits.  B.  Without price limits.



The type of transaction--e.g., day trade or spread--is a factor accounting for different commission charges for a particular futures contract execution.  A. True.  B. False. 



In an “inverted” market, nearby futures prices are higher than distant futures prices.  A.  True.  B. False.



A “market-if-touched” (MIT) order to buy is placed below the current market.          A. True.  B. False.



Stop orders may be used to:  A. Close out losing positions.  B.  Protect a profitable position.  C.  Enter the market.  D.  All of the above.



The purpose of expanded daily price limits is to allow trading to continue during periods of heightened market movement.  A. True.  B. False.    



A forward contract:  A. Is the same as a futures contract.  B. Does not permit delivery.  C. Is not traded on an exchange.   D. Is used only for grains.



Forward contracts are cleared by a clearinghouse that guarantees their performance.  A. True.  B. False.



In contrast to futures, stocks:  A.  Have price and position limits.  B. Have expiration dates.  C. Have a short for every long.  D. Are traded under a specialist system.



A long futures position gains when the price of the underlying commodity, security, currency or index:  A. Increases  B. Falls.  C.  Stays the same.



In futures trading, to sell short:  A. As in securities trading, one must wait for an up-tick in the market.  B. One needs to be more alert and observant when assuming a long position.  C. Is more difficult mechanically than going long.  D. None of the above.



A market in which the price of each succeeding delivery month is higher than that of the previous month is called a (an):  A.  Backwardation market.  B. Carrying change market.  C. Inverted market.  D. None of the above.



All order tickets for a futures trade require all except one of the following items of information.  Mark that item.  A.  Whether it is a buy or sell.  B. The quantity.  C.  The date of the order.  D. The amount of margin deposit.  E. The signature or initials of the account executive entering the order.





Chapter 5: Options and Futures



Money paid by the buyer of an option to its seller (grantor) is called the:  A. Time Value.  B. Premium.  C. Discount.  D. Delta.



If a call is exercised, its holder receives from the clearinghouse, at strike price:  A. A short futures position.  B. A long futures position.  C. Cash.  D. None of the above.



When the price of the underlying future is above the strike price, a put is referred to as:  A.  In-the-money.  B. Out-of-the-money.  C. At-the-money.  D. None of the above.



An option buyer’s risk is limited to:  A. The margin.  B. The premium.  C.  His total equity.  D. An unknown quantity.



The positive difference between an option’s strike price and the price of the underlying futures contract is:  A. Time value.  B. Market value.  C.  Intrinsic value.                   D.  Premium.



An option’s premium is affected by the:  A. Time to maturity.  B. Underlying futures price.  C. Futures price volatility.  D. Items A through C.



If the underlying futures price changes by 50 points, a deep out-of-the-money option will:  A. Change little or none.  B. Change about 75 points.  C. Also change by 50 points.  D. Change by about 100 points.



A principal benefit of options over futures contracts for speculation is the limited risk in long option position.  A. True.  B. False.



A short futures position can be protected against extended losses by:  A. Buying a put.  B. Buying a call.  C. Selling a call.  D. Selling a put.



A call sold “uncovered” can present the seller with unlimited risk if the price of the underlying futures rises.  A. True.  B. False. 



If a futures put is exercised, its seller (grantor) receives from the clearinghouse:  A.  A short futures position.  B. Cash.  C. A long futures position.  D.  None of the above.



In the U.S., The premium on futures options:  A. Must be paid in full at the time of the purchase.  B. May be margined.  C. Cannot be sold short unless the underlying futures position is “borrowed.”  D.  Is paid or margined as required by the exchange on which the option is traded.



Upon expiration, an option trading on a U.S. exchange is:  A. Automatically exercised if in-the-money.  B. Automatically exercised whether it is in- or out-of-the-money.     C. Automatically exercised on some exchanges if the option is in-the-money.  D. Never automatically exercised.



The CFTC has special rules and regulations for options transactions.  A. True.          B. False.



A long call position presents limited risk and unlimited profit potential.  A. True.        B. False.



A long call and a short put combined have the risk-return characteristics of:  A. A short call.  B. A long put.  C. A short futures.  D. A long futures.



If a speculator anticipated a very strong rally in the underlying futures, he would:      A. Buy at-the-money put.  B. Sell an in-the-money call.  C. Buy a deep out-of-the-money call.



Other things equal, as the price volatility of the underlying futures increases, the option’s premium will:  A. Increase.  B. Decrease.  C. Remain the same.



Exchange options provide:  A. Limited risk.  B. Standardized contracts.  C. The ability to close out long or short option positions with an offsetting market transaction.  D. All of the above.



Just before expiration, an options delta tends to move toward 50 percent.  A. True.    B. False.



In options trading, the associated person of an FCM or IB has to provide prospective customers with a standard risk disclosure document but is not required to become acquainted with any personal circumstances of the option customer.  A. True.           B. False.



An option delta:  A. Never changes after an option is listed for trading.  B. Changes only with the passage of time.  C. Changes when factors affecting the option’s price change.



When an option is exercised, the underlying futures contract changes hands:  A. At a mutually agreeable price.  B.  At the option’s strike price.  C. At a price set by the clearinghouse.



An S&P 500 December 165 call is bought for a premium of 5.25. What is the cost to the buyer, ignoring commissions, when the contract unit is $500 time the index?  

$525.  B. $2,625.  C. $165.  D. $866.25.



Excluding commissions, what is the break-even premium (price) for the call buyer in question 24?  A. 165.  B. 159.75  C. 167.625.  D. 170.25.



What is the maximum risk for the call buyer in question 24?  A. $525.  B. $2,625.     

$165.  D. Risk is unlimited.



An American option:  A. Can be traded only in the United States or Canada.  B.  Can be exercised at any time prior to its expiration.  C. Can be exercised only at expiration.



A December 420 gold put is sold for a premium of $9.00 per ounce.  The seller’s account is credited with what amount, ignoring commissions?  A. $420.  B. $450.          C. $900.



A synthetic short all can be created with a short futures and a short put.  

True.  B. False.







Margin is required when a put is sold on the U.S. exchange.

True.  B. False.



An in-the-money option:  A. Can only have time value.  B. Can only have intrinsic value.  C. Can have both time and intrinsic value.



A synthetic short futures position can be created by combining:  A. A long put and a long call.  B. A short put and a long call.  C.  A long out and a short call.  D. None of the above.



Assume that March T-bond futures are trading at 80-00 and the T-bond call premiums are: 

      March 80-00 T-bond call: 2-12 (2-12/64)

      March 90-00 T-bond call: 0-9 (9/64)

      If March T-bond futures climb 90-00, what would the premium be on the March 

      80-00 call?  A. 10-00 or more.  B. Less than 10-00.  C. Cannot be determined.



Put-call parity indicates that the prices of puts and calls on the same underlying futures contract:  A. Are unrelated.  B. Are always equal.  C. Are such that the put price always exceeds the call price.  D. None of the above.



As the time to expiration decreases, the value of an option, all other things equal:  A. Increases.  B. Decreases.  C. Remains the same.





Chapter 6: Account Equity and Margins





A futures customer’s margin is a down payment on the asset underlying the futures contract.  A. True.  B. False.



The initial margin is deposited:  A. At the time the futures position is initiated.  B.  When there is a loss on the long or short position of the customer.  C. When the  futures contracts are closed by an offsetting trade.  D. At the discretion of the FCM.



Variation margin is the amount of funds deposited by a clearinghouse member in addition to the original margin when:  A. The market price moves against the member’s position.  B.  The futures position is closed out.  C. The firm begins a new fiscal year.



A futures commission merchant may require a customer to deposit initial margin:      A. In an amount smaller than that specified in the exchange rules.  B. In an amount equal to or larger than that specified in the exchange rules.  C. Only in an amount to that  specified in the exchange’s rule.



A customer who deposits the minimum initial margin as required by the exchange rules:  A. Always pays interest on that amount that is not margined.  B. Never pays interest.    C. Pays interest if required by his or her FCM.



The amount of customer initial margin required may be changed:  A. By an exchange with CFTC approval.  B. By an exchange without CFTC approval.  C. Only by the CFTC.



A customer having an equity in excess of maintenance margin requirements may use such excess equity to margin new positions.  A.  True.  B.  False.



Hedge margin rates are normally lower than speculative margins because the trade customer is reducing rather than increasing his risks.  A.  True.  B.  False.



A customer is long 5 S&P 500 futures contracts and has deposited the $45,000 initial margin required.  The Chicago Mercantile Exchange raises original margin to $10,000.  In this case:  A. The customer’s initial margin is also increased.  B. The customer’s initial margin is not changed.  C. The customer’s initial margin will change the next time he or she trades.



Margin requirements are:  A.  Higher on shorts than longs.  B.  Higher on longs than shorts.  C. Generally the same for longs and shorts.



Trade conformations are required only on closing transactions.  A. True. B. False.



Assume the initial margin for CBT wheat is 12 cents per bushel and maintenance is 11 cents per bushel.  The customer initiates a long December contract at $2.53 ¼.  At what price will he be called for additional margin?                                                     A. $2.52 ¼.  B. $2.52.  C. $2.55 ¼.  D. None of the above.



A customer has a long position in tow contracts of Sugar #11 at 8.40 cents and liquidates at 9.40 cents.  The commission is $62.00 per contract.  What is his net profit? (contact size = 112,000 lbs.)  A. $2,240.  B. $996.  C. $2,116.  D. $2,178.



If a customer does not respond to a margin call, his broker may:  A. Close out all or part of his position.  B. Close his account.  C. Lend him money for the margin payment.  D. Charge him interest on unpaid margin as a penalty.



Knowing the point value for a particular commodity is most helpful for:                      A. Determining equity.  B. Figuring margin requirements.  C. Calculating profits and losses.



The New York Mercantile Exchange announced it would begin trading in tuna fish futures.  The contract, calling for the delivery of 40,000 lbs. of yellowfin tuna, would trade in price multiples of 1/100 of a cent a pound.  The point value would be :         A. The same as the minimum fluctuation.  B. 5 cents a lb.  C. $4.00.  D. None of these.



Assume the initial margin for a live cattle contract is $600.  A speculator is long one contract at 42.90.  His initial margin deposit: (contract size = 40,000 lbs.)                 A. Represents about 3.5% of the contract value.  B. Represents 8.75% of the contract value.  C. Provides higher leverage as the price of cattle declines.  D. Must be increased if the prices of cattle rises.



As reflected in a customer account report, the “Net Liquidating Value”:  A. Includes securities on deposit.  B. Includes the value of all open long or short options positions.    C.  Excludes the account’s cash balance.



An account executive need not be concerned with margin calls issued to his customer, since this is primarily a function of the margin department.  A.  True.  B. False.



If an associated person of an FCM knows that his customer is unable to meet a margin call, his best course of action is to: A. Gain more time for the customer to meet the call.  B. recommend that the office manager permit the customer to maintain the position, since the AP and the customer are confidant that the market will move in the customer’s favor.  C. Encourage the customer to day trade with the object of realizing sufficient profits to cover the call.  D. Encourage the customer to spread off his position, since a spread will avoid further loss.  E. Recommend to the customer that he liquidate the position to avoid the possibility of additional losses before a forced liquidation is effected.



A “mark-to-market” margin requirement (applicable to some spread and hedge positions) means:  A. Maintenance margin is equal to the average variation margin amount.  B. No maintenance margin is required.  C. The maintenance margin amount changes daily.



The SPAN margining system:  A. Excludes long options in its calculation.  B.  Can be used only for foreign currency futures and options.  C.  Calculates both the equity and risk components of the margin requirement.  D. Employs a standard option-pricing model to calculate current option values.



Clearing member firms do not have to margin their proprietary accounts.      

True. B. False.



Commissions on futures and options are required to be charged on a round-turn basis.    A. True.  B. False.









Chapter 7: The Fundamental Approach to Futures Price Forecasting



Fundamental analysis involves evaluating the future supply of and demand for the actual commodity or financial instrument underlying a futures contract.  A. True.            B. False.



The predominant force for information on agricultural commodities is:  A.  The U.S. Bureau of Mines.  B. Federal Reserve Board.  C. USDA.  D. Exchange newsletters.



An increase in value of a foreign currency, relative to the U.S. dollar, encourages U.S. exports.  A. True.  B. False



Commodity agreements, since they seldom work for long periods of time, can be ignored by the analyst.  A. True.  B. False.



Commodity futures prices on certain selected commodities many be influenced by all but one of the following U.S. government programs.  Mark that one.  A. Acreage allotments or marketing quotas.  B. Encouragement of family-size farms.  C.  Subsidies.  D. Export programs.  E. Minimum selling prices or some CCC-owned commodities.



War or threat of war may affect futures prices because of:  A. Lack of shipping space.  B. Blockade.  C. Stockpiling of basic commodities.  D. None of the above.  E. A, B, and C.



An analysis of basic supply and demand data does not involve:  A. Prospective crops.  B. Carryover stocks.  C. The trend of the futures price of the commodity.  D. Probable or actual domestic use.  E. Exports and imports.



When analyzing a commodity, which of the following is not considered a supply factor:  A. Imports.  B. Exports.  C. Production.  D. Carryover.



A “parity” price is aimed at maintaining the farmer’s purchasing power.  A. True.  B. False.



The Commodity Credit Corporation (CCC) is concerned with:  A. Administering government loans to farmers.  B. Supervising government commodity stockpiles.  C.  Overseas distribution of U.S. grown commodities.  D. All of the above.



USDA acreage set-aside programs are designed to:  A. Reduce crop production.       B. Absorb excess supplies.  C. Lower production costs.



Demand for a commodity includes:  A. domestic production. B. Exports. C. Carryover.



Continual increases in the rate of monetary growth would most probably:  A. Be bearish to the economy.  B. Be bullish to the economy.  C. Increase inflation.  D. Have unknown results.



An oil supply shock is likely to cause a rise in interest rates:  A. True.  B. False



A primary source of information on fundamental factors affecting U.S. interest rates is:  A. The USDA.  B. The Federal Reserve System.  C. The International Monetary Fund.    D. The Department of Labor.



Among the measures of overall futures prices, futures contracts are traded on:  A. The Goldman Sachs Commodity Index.  B. The Dow Jones Commodity Index.  C. The Producer Price Index.  D. None of the above.



A growing economy usually implies:  A. Strong credit demand.  B. Increased GNP.  C. Higher interest rates.  D. All of the above.



The fundamental economic indicators or statistics: A. Quantify the strength of the economy and credit demand.  B. Provide indications of price support and resistance levels.  C. Are qualitative judgements of market psychology.  D. Are bullish to the economy.



The formation of free trade areas and trading blocks throughout the world is always bullish for U.S. agricultural products.  A. True.  B. False.



The only reliable and timely data for fundamental analysis come from government sources.  A. True.  B. False.



Chapter 8: The Technical Approach to Futures Price Forecasting



The most important goal of technical analysis is to:  A. Estimate the strength of buying and selling forces.  B. Determine how far a price move should carry.  C. Determine the optimum placement of stop orders.  D. All of the above.



A technical analyst works with all but one of the following.  Mark that one.  A. Trading volume.  B. Prices.  C. Carryover.  D. Open Interest.



The most widely used form of charting is:  A. Point-and-figure charts.  B. Close-only charts.  C. Bar charts.



In a point-and-figure chart, “X”s are used to record advancing prices and “O”s to record declines.  A. True.  B. False.



Moving averages are:  A. Leading trend indicators.  B. Used to “smooth” price action.  C. No different for regular trendlines.



A congestion area is one in which prices are contained in a relatively narrow band for an extended period.  A. True.  B. False.



Price “support” refers to a level or area where increased selling activity could be expected.  A. True.  B. False.



A likely chart location for potential price support or resistance is:  A. Previous highs and lows.  B. Gaps.  C. Congestion areas.  D. All of the above.



A down trendline is drawn:  A. Across successively lower peaks.  B. Through the closing prices.  C. Along intermittent lows.



A line drawn parallel to a trendline, forming a price channel, is called a “return” line.  A. True.  B. False.



The main advantage of a resting stop order is:  A. It can be used to limit losses to a precise amount.  B. It can be used to implement precisely buy or sell signals.  C.  It provides price protection when the trader is not following the current market closely.  

It requires renewal only on a weekly basis.



The weakening of an ongoing price trend is indicted by:  A. Failure of prices to attain a new high or low.  B. Breaking of a well-established trendline.  C. Slowing of market momentum.  D. All of the above.  



The most basic chart uptrend comprises a series of successively higher highs and higher lows in a stair-step formation.  A. True.  B. False.



An unusually wide price gap that occurs at the end of a long price move is called a:   A. Breakaway gap.  B. Exhaustion gap. C. Continuation gap.



A “rounding” or “saucer” bottom is associated with very volatile markets.  A. True.  B. False.



“Triangular” price patterns on the chart can represent potential areas of price consolidation or reversal.  A. True.  B. False.



When trading with moving-average charts, a typical “buy” would be:  A. Prices close below the moving average.  B. Prices close above the moving average.



Chart price patterns are:  A. Positive indications of future activity.  B.  One indication of the nature and strength of buying and selling.  C. Meaningless.



If trading volume, price, and open interest are all rising, the market is technically strong.  A. True.  B. False.



If trading volume dries up on declines, what kind of signal would be given?                A.  Bullish.  B.  Bearish.  C. Neutral.



If open interest were rising while prices were falling, the market would be considered technically:  A. Strong, because of new buying.  B. Weak, because the action indicates aggressive new short selling.  C. Neutral, because prices would be consolidating.



A weakness of computerized trading analysis is:  A. The ability to create systems that work on past data but fail to produce profits in the future.  B. The inability to identify trading system components that yield profits.  C. A and B.  D. None of the above.



A five-wave pattern that defines a major market upward or downward move is called a:  A.  Sine wave.  B. Elliot wave.  C. Hog cycle.



A trend can be defined as an underlying tendency for prices to move in one direction.           A. True.  B.  False.



The longer the period of a moving average, the less sensitive it is.  A. True.  B. False.



If prices fail to make a new low, but turn upward again from about the same level, the chart formation would be a possible:  A. Double bottom.  B. Gap.  C. Continuation. 



Even a predominantly fundamental trader can use technical analysis to improve his market timing.  A. True.  B. False.



A short, temporary consolidation (“flag” formation) in a rapid upward price move often occurs:  A. Right after the up-move starts.  B.  Near the midpoint of the projected move.  C.  Near the end of the up-move.



If prices break cleanly out of a long congestion area and then immediately stall, it means:  A. Nothing.  B. The breakout may be false.  C. An opportunity to take a position in the direction of the breakout.



A candlestick chart is different for a bar chart in that a candlestick chart:  A. Does not show the opening price.  B. Represents the distance between the open and close by a rectangle.  C. Shows a full range of daily prices.



Oscillators such as stochastics, MACD and RSI can be used as:  A. Overbought/oversold indicators.  B. Divergence indicators.  C. Both A and B.  D. Neither A nor B.



A strength of computerized trading analysis is:  A. The amount of data that can be analyzed.  B. The ability to test objectively the contribution of individual components of the system.  C. A and B.  D. None of the above.



Chapter 9: The Theory and Practice of Hedging

Chapter 10: Introduction to Basics



The purpose of hedging may be described as “a futures by or sell in expectation of making a similar cash transaction at a subsequent time.”  A. True.  B. False.



The act of hedging enables the hedger:  A. To insure that all carrying charges will  be fully paid.  B.  To insure that his or her position will always gain.  C. To shift to others all or most of the risks resulting form possible price changes.



Corporations can use interest rate futures to hedge:  A. Anticipated debt issues.  B. Cost of floating-rate borrowing.  C. Investment income.  D. All of the above.



The British subsidiary of a U.S. Company earns annual revenue of 100 million pounds sterling.  These revenues are repatriated to the parent company at the end of each accounting year.  Which of the following is true?  A. The British subsidiary has a foreign-exchange exposure.  B. The parent company has a foreign-exchange exposure.  C.  Neither the parent or the subsidiary had a foreign-exchange exposure.



Assume that parent company in question 4 wants to hedge the dollar value of the revenue it will receive at the end of the year.  It can do this by:  A. Selling British pound futures.  B. Buying British pound futures.  C.  It cannot hedge this risk using futures contracts.



Without a futures market in which to hedge grains, the price of bread probably would be:  A. Higher.  B. Lower. C. About the same.



7.  A farmer owns 10,000 bushels of soybeans at $4.05 a bushel.  He hedges his inventory by selling 10,000 bushels at $4.15 the futures market.  When he covers his position later, the basis has changed to 15 cents over.  His loss or gain per bushel on the combined futures and cash positions is:  A. 5 cents less.  B. 25 cents loss.  C. 5 cents gain.  D. 10 cents loss.



A selling hedge (a sale of futures) in a full carrying change market is generally advantageous:  A. Only if spot prices subsequently decline.  B. Whether spot prices subsequently advance or decline.  C.  Only if spot prices remain stable.



A selling hedge is designed to protect the value of a commodity held in inventory against a possible price decline.  A. True.  B.  False.



A buying hedge (a purchase of futures) s used to protect against a possible later price decrease in the actual commodity.  A. True.  B. False.





A selling hedge placed in a distant delivery month that is at a sizable premium over the near months and the cash price will usually pay for carrying the commodity.  A. True.  B. False.



When an inventory position of a commodity is hedged by the sale of futures contracts:  A. Banks are reluctant to finance the inventory.  B. Interest rates on money borrowed tend to  be higher.  C. A well-managed concern usually finds it easier to borrow money.



A hedge position may not give full protection against adverse price movements because:  A. During the time the hedge is operative, the basis may change.  B.  Cash prices and futures prices usually move in unison.  C. The various futures delivery months usually do not sell at the same price.



Hedging is most effective when:  A. The commodity in processed form is being hedged.  B. A semi-manufactured article is being hedged.  C. A primary commodity is being hedged.



Which of the following are true:  A. The passage of time itself can be a major factor in changing the basis.  B. When futures markets are inverted, a short futures hedge usually is profitable.  C. It is possible to hedge against changes in the basis.                 D. A and B.



Grain elevator operators who hedge inventory usually prefer to hedge in:  A.  A carrying-charge market.  B. An inverted market.  C.  A high-priced market.



Basis is defined as:  A. The cash price relevant to the hedger minus the futures price.  B. The futures price minus the cash price relevant to the hedger.  C. The cash price at the par delivery location minus the futures price.



A selling hedge:  A. Can be the same as a buying hedge. B. Protects the hedger against an unexpected price rise.  C. Helps a dealer with unsold inventory to remain competitive.



One of the corollary advantages of buying hedge is a reduces need for storage facilities on the part of the hedger.  A True.  B. False



An  exporter who is “short on basis” e.g., he has made a fixed price sales commitment for a commodity he has not purchased, would establish a short hedge.  A. True.  B. False.



A change in basis may be caused by:  A. A change in current supply or demand factors for the commodity.  B. A change in the deliverable supply of the commodity.  C. A change in interest rates.  D. All of the above.



Use the following data for questions 22, 23, and 24:



�Cash

Wheat�March 

Wheat Futures�

Basis��July�$4.35�$4.50�-15��September�$4.40�$4.40�   0��December�$4.42�$4.47� -5��January�$4.43�$4.40�+3��

Between July and September the basis has: A. Strengthened.  B. Weakened.                C. Remained the same.



If a short hedge were placed in September and lifted in December, the profit or loss per bushel on the futures contract would be:  A. -18 cents.  B. -15 cents.  C. +18 cents.  D. -7 cents.



In terms of basis, the best month to establish a long hedge would be:  A. July.            B. September.  C. December.  D. January.



25.An exporter receives and order for a cargo of wheat for shipment 5 months later.  The selling price is based in the current market.  The exporter most likely would do which of the following:  A. Place a selling hedge.  B. Sell the cash commodity short.  C. Place a buying hedge.  D. Put on a speread.



A meat packer sets up a buying hedge in hogs for a futures price of $29.96 per cwt.  Cash hogs are $29.55 when the hedge is put on.  He liquidates the hedge when futures are $30.35 per cwt.  The net price (i.e., taking into account the gain or loss from the futures position) he pays for the hogs is:  A. $29.45.  B. $29.66. C. $30.55.  D. $29.85.



If the packer in question 26 carries the hedge until futures are $30.85 and cash is $30.55 per cwt., his net cost would be:  A. $29.45.  B. $29.66. C. $30.55.  D. $29.85.



Use this information to answer questions 28-31:



On August 1, a copper pipe fabricator contracts to sell a pipe at a fixed price that it will fabricate in December.  To do so, it will require 200,000 pounds of copper in late November.  On August 1, the fabricator can buy copper at 82 cents per pound, and the December futures price is 87 cents per pound.  On November 15, he can buy cash copper at 84.20 cents, and the December future is 89 cents (contract size = 25,000 lbs.).



To hedge its position, the fabricator would:  Buy 2 copper futures contracts.  B. Sell 2 copper futures contracts.  C. Buy 8 copper futures contracts.  D. Sell 8 copper futures contracts.



If the fabricator hedged on August 1, the basis would be:  A. 5 cents over.  B. 5 cents under.  C. Flat.



On November 15, the fabricator’s basis would be:  A. 4.80 cents over.  B. 4.80 cents under.  C. 7 cents over.  D. 2.80 cents under.



Assuming the fabricator hedged, taking into account the results of the hedge, the net cost of its copper was: A $168,400.  B. $164, 400.  C. $164,000.  D. $13,240.



Chapter 11: Advanced Hedging Procedures

Chapter 12 Spreads and Seasonal in Futures



An exchange for physicals transaction:  A. Must be executed according to exchange rules.  B. Is illegal under the Commodity Exchange Act.  C. Is privately negotiated and therefore does not become part of the exchange record of transactions.



Exchanges for physicals:  A. Are used only in the grain and oil markets.  B. Generally involve either futures or cash market positions but not both.  C. Are a limited-risk strategy for speculators.  D. Are useful for hedging firms that find the standardization of futures contracts significantly reduces their usefulness.



ESP’s can be used to speculate on basis movements:  A. True.  B.  False.



Buyer’s and seller’s calls are widely used in the cotton futures market.  A. True.          B.  False.



Cross-hedges should never be used if there is a futures contract trading on the commodity that is being hedged.  A. True. B. False.



In a sellers call:  A. Either the buyer or the seller can decide when to set the price.      B. The buyer and seller must jointly decided when to set the price.  C. The seller selects the time to set the price.  D.  The buyer selects the time to set the price.



The crack spread:  A. Is the opposite of the crush spread.  B. is am intramarket spread.  C. Is a commodity-products spread.



A limited-risk spread is long the nearby contract and short the deferred when the market is trading at full carry.  A. True.  B. False.



A bear spread is:  A. An intermarket spread.  B. A commodity-products spread.  C. An intramarket spread.



In interest rate futures, an inverted market exists when:  A. The home country’s exchange rate is depreciating.  B. Interest rates are rising.  C. The cost of financing the underlying financial instrument is less than the yield on that instrument.



An example of an intramarket spread is:  A. A long CBOT wheat vs. Short KCBOT wheat.  B. Long May corn vs. Short July corn.  C. Long May copper vs. Short December silver.  D. Long March corn vs. Long May corn.



When placing spread orders, it is best to specify the desired price difference between the two delivery months rather than the specific prices on each side of the spread.           A. True.  B. False.



Nearby May wheat is 5 cents over December wheat.  A spread trader who expected the difference to increase to 8 cents over would:  A. Sell May/buy December wheat.  B. Buy May/sell December wheat.  C. Take an outright position in May wheat.



If the spreader in question 13 realized his expected differences, his profit on a one-contract spread (i.e., per 5,000 bushels) before commissions would be:  A. $50.  B. $150.  C. $75.



A spread can involve as much risk as an outright long or short position.  A. True.      B. False.



Seasonal downward pressure on cash commodity prices is usually greatest:  A. In the spring.  B. Right after harvest.  C. In the summer.



Spread margins are generally lower than margins on net positions because:  A. Spread traders are usually more experienced.  B. A spread normally presents less intrinsic market risk than a net position.  C. Spread positions historically have received preferential margin treatment.



If a spread trader closes out one side of a spread:  A. The margin increases to that for an outright position.  B. The trader increases his market risk.  C. Both A and B.



The soybean crush is considered:  A. An intramarket spread.  B. A commodity-products spread.  C. An inter-exchange spread.



A bull spread is:  A. A commodity-products spread.  B. An intramarket spread, long the nearby/short the deferred.  C. An intramarket spread, short the nearby/long the deferred.  D. An intermarket spread.



Chapter 13: Characteristics of Agricultural Commodities and Metals

Chapter 14: Energy Futures and Options



The type of wheat traded on the Chicago Board of Trade is soft red winter wheat.       A. True.  B. False.



The world’s largest producer of corn is:  A. U.S.A.  B. India.  C. Russia.



The most important single supple factor for FCOJ futures is:  A. Imports.  B. Government purchases.  C. The possibility of a freeze in the Dec.-Feb. period.



A “hog cycle” is:  A. A circus act.  B. Triggered by relative price changes for hogs and feed.  C. An annual event, usually starting in the spring.



Silver and gold both have traditionally acted as havens for capital in times of high inflation or monetary uncertainty.  A. True.  B. False.



Most of the world’s cocoa is grown in:  A. Africa.  B. Brazil.  C. Germany.



U.S. cotton futures prices are affected by:  A. Consumer preference.  B. Prices of synthetic fibers.  C. Foreign cotton production.  D. All of the above.



Slaughter of cattle for beef is highest in the fall of the year.  A. True.  B. False.



All except one of the following are considered factors affecting the overall level of commodity prices.  Mark that one.  A. Inflation.  B. Weather.  C. Mineworkers’ strikes.  D. Government policies.



All important coffee-producing nations are in South America.  A. True.  B. False.



The world’s largest user of cocoa is:  A. Germany.  B. U.S.A.  C. C.I.S.



Cattle futures are the only live animal futures trading on the U.S. exchange.  A. True.  B. False.



The principal use of soybean meal is:  A Health food.  B. Animal feed.  C. Fertilizer.  D. Medicines and cosmetics.



Which of the following is not traded on a U.S. futures exchange:  A. Lumber.           B. Palladium.  C. Tin.  D. Fertilizer.



The New York Mercantile exchange is the only exchange in the world that trades energy futures.  A. True.  B. False.



The “crack hedge” does not include which of the following futures contracts:             A. Crude oil.  B. Natural Gas.  C. Heating oil.  D. Gasoline.



In the U.S., the principal products of crude oil refining are:  A. Gasoline, jet fuel, and heating oil.  B. Gasoline, naphtha, and Kerosene.  C. Heating oil and propane.



An oil importer with a cargo of unsold crude in a ship on its way to the U.S. would hedge his price risk by selling crude oil futures.  A. True.  B. False.



A refiner with gasoline sold forward at a fixed price would hedge by: A. Selling crude oil futures.  B. Buying gasoline futures.  C. Putting on a “crack” spread.



The sweet crude/sour crude spread:  A. Can be used by refiners to insure a favorable refining margin.  B. Can change over time.  C. Is an intermarket spread.  D. All of the above.



Chapter 15: Interest Rate Futures and Options



A Treasury bill futures contract involves contemplated delivery in the spot month of:         A. $100,000 intermediate-term 8% debt of the U.S. government.  B. $1 million short-term, discounted debt of American corporations.  C. $1 million short-term, discounted U.S. government debt.



A Treasury bond futures contract involves contemplated delivery in the spot month of: A. $1 millions short-term, discounted U.S. government debt.  B. $100,000 U.S. government coupon bonds maturing in one year.  C. $100,000 U.S. coupon bonds maturing in fifteen or more years. D. $1 million in U.S. government 8% coupon bonds maturing in 15 years.



Which of the following are discount instruments?                                                          1. T-bills.  2 Treasury bonds.  3. Treasury notes.  4. Zero-coupon bonds.                    A. 1 only.  B. 1, 2, and 3.  C. 3 only.  D. 1 and 4.



Financial futures are:  A. Generally used by a small group of large banks.  B. Not appropriate for speculative customer business.  C. Used primarily by small corporations.  D. Similar in terms of their pricing to futures contracts on “storable” commodities.  



Treasury bill futures are regulated by:  A. The U.S. Treasury.  B. The Federal Reserve Board.  C. The CFTC.  D. The SEC.



Continual growth in the rate of inflation would probably cause:  A. Higher interest rates and higher bond prices.  B. Lower rates and lower bond prices.  C. Higher rates and lower bond prices.  D. Lower rates and higher bond prices.



A corporation in November plans to issue $20 million worth of bonds in May.  It expects interest rates to rise and therefore would establish z long hedge in Treasury bond futures.  A. True.  B. False.



Delivery on Eurodollar futures contracts traded on the Chicago Mercantile Exchange is accomplished by:  A. Transfer of Eurodollar certificate of deposit.  B. Cash settlement to the closing price determined on the trading floor.  C. Cash settlement to the final settlement price determined by the exchange clearinghouse.



The equity value of a long position in an interest rate futures contract in a customer’s account will: A. Rise when interest rates rise.  B.  Fall when interest rates fall.  C. Rise when interest rates fall.  D. Remain stable during interest rate changes.



Interest rate futures markets offer both hedgers and speculators chances for hedging and trading in contracts on:  A. Short-term debt.  B. Intermediate-term debt.  C. long-term debt.  D. All of the above.



A customer is long in the March IMM T-bill contract at an entry price in November of 89.50.  To protect the position in the event of an interest rate rise, a sell-stop is entered at 89.  The stop goes off and the positions liquidated at 89.  The amount lost (the contract’s point value is $25) before deducting commissions is:  A. $1,562.50.  B. $1,150.  C. $1,250.  D. $1,000.  



A trader short a March T-bond future on the Chicago Board of Trade at 93-21 enters a buy-stop order to protect the position in the event of an interest rate decline.  The stop is a t 94-01.  Rates fall, the stop is triggered and the position is liquidated at 94-01.  How much did the trader lose before commissions, given that the contracts point value is $31.25?  A. $2,578.75.  B. $1,375.  C. $375.  D. $750.



To offset portfolio erosion during times of rising interest rates, a bank of thrift can hedge by:  A. Selling T-bond futures. B. Buying T-bond futures.  C. Spreading T-bond futures.  D.  Going short T-note futures and simultaneously going long t-bond futures.



Hedgers in financial futures may be:  A. Banks and thrifts.  B. Bond dealer and corporate treasurers.  C. Institutional and private portfolio managers.  D. All of the above.



A yield curve is a plot of the yields on related securities that differ only in their times to maturity and type of issuer.  A. True.  B. False.



Yield curves can be:  A Positive. B. Negative.  C. Flat.  D. Any of the above.



The basis in interest rate futures is:  A. The difference between the quoted trading months in specific rate futures.  B. The difference between the quoted month of an interest rate future on differing futures exchanges.  C. The difference between the cash price of a specific debt instrument and the quoted price of its contract in the futures markets.  D. The difference in futures prices of short- and long-term obligations.



The cash market price of a debt instrument and the price of its futures:  A.  Do not always fluctuate equally.  B. Move identically to changing conditions in the interest rate markets.  C. Are not as predictable as the anticipated movement in the basis.



The portfolio manager’s decision to hedge or not should be based on:  A. The degree of risk if the portfolio is not hedged.  B. An assessment of the basis.  C. Tax implications of any protective hedge.  D. All of the above.



An arbitrage in interest rate futures could involve: A. Simultaneous purchase and sale of the same debt future.  B. Simultaneous purchase and sale in the cash and the futures market of a specific debt instrument.  C. Simultaneous purchase and sale of differing cash instruments D. Any of the above.



A bear spread in the interest rate futures is:  A. Short the near month and long the far month.  B. Effected when traders expect interest rates to rise.  C. A maneuver known in trade as selling the spread.  D. All of the above.



The role of the speculator in financial futures markets:  A. Is the same as in other futures markets.  B. Is to accept the risk shifted by the hedger.  C. Is to provide the broader liquidity required for active financial futures markets.  D. All of the above.



An example of buying a strip is:  A. Purchase by a trader of four successive 3-month T-bill futures contracts.  B. Sale by the trader of three successive 3-month Eurodollar futures contracts.  C. Purchase of a zero-coupon bond.



In a negative yield curve:  A. Short-term interest rates are less than intermediate-term rates.  B. interest rates of all maturity dates are the same.  C. Short-term rates exceed intermediate-term rates.



When short-term interest rates are lower than long-term interest rates, the cost of carry on a Treasury bond futures contract will be negative.  A. True.  B. False.





Use this information to answer questions 26-29.



On November 1, a bond dealer who holds $1 million in 15-year, 8-3/4% Treasury bonds anticipates a rise in interest rates.  If he hedges, he will lift his hedge on March 4.  Prices are as follows:



�

Cash T-bonds�March T-bond 

Futures��November 1�82-17�80-09��March 4�70-26�66-29��



If he anticipates a rise in interest rates, he expects cash price for bonds to:  A. Advance.  B. Decline.  C. Stay the same.



What was the dealer’s basis on November 1:  A. 2-08 over.  B. 2-08 under.  C. 11-23 over.  D. 11-23 under.



Assuming the dealer hedged on November 1 and lifted the hedge on March 4, the result realized on the futures transactions would have been:  A. A gain of 13.80 per contract.  B. A gain of 13-12/32 per contract.  C. A loss of 13.80 per contract.  D. A loss of 13-12/32 per contract.



What was the dealer’s basis on March 4?  A. 3-29 over.  B. 3-29 under.  C. 13-12 over.  D. A loss of 13-12/32 per contract.



On August 1, an institutional investor expects to receive about $1 million during the next three months, which he intends to invest in Treasury bonds.  He is satisfied with the prevailing yield on 20-year bonds and decides to seek protection against a possible drop in interest rates.  He could obtain such price protection by:  A. Buying T-bond futures.  B. Selling T-bond futures.  C. Spreading T-bond futures against T-not futures.



On June 15, a money manager buys $5 million in 90-day T-bills.  To establish the yield he will receive when he reinvests the $5 million for an additional 3 months, he would:     A. Buy 5 December T-bill contracts.  B. Sell 5 T-bill contracts.  C. Buy 5 September T-bill contracts.  D. Sell 50 September T-bill contracts.



Assuming a money manager purchased 5 contracts of T-bill futures at 95.00 and sold 5 contracts at 93.00, his profit or loss would be:  A. $25,000 loss.  B. $100,000 gain.  C. $10,000 gain.  D. $25,000 gain.



A borrower who plans in May to issue $10 million in 90-day commercial paper in September wishes to protect himself against higher interest rates in the future.  He ca do so by:  A. Buying 10 September T-bill contracts.  B. Selling 10 September T-bill contracts.  C. Buying 100 September T-bill contracts.  D. Selling 100 September T-bill contracts.



A Eurodollar futures price of 94.05 is equivalent to the annual yield of: A. 9.405.      B. 6.05.  C. 5.95.  D. 5.05.



Chapter 16: Foreign Exchange Futures and Options




An American candy 
manufacturer
 buys Nigerian cocoa for delivery three months later at the current Nigerian price on the day of 
delivery
.  For 
convenience
, 
it is agreed that 
the
 
transaction will be made in English currency.  To hedge, the manufacturer would:  A. Buy c
ocoa futures.  B. buy 
British
 
pound
 futures.  C. Sell 
British
 
pound
 futures.  D. A and B.  
  
E.
 
A and C.







An American 
pharmaceutical manufacturer negotiat
ed for the 
purchase
 of 500,000 Swiss francs worth of 
Swiss
 chemicals for delivery in six months.  The Swiss franc futures contract is 125,000 SF.  To hedge the purchase, the American manufacturer would:  A. Sell 5 Swiss franc contracts.  B. Buy 5 Swiss franc 
contracts
.  C. Sell 4 Swiss franc contracts.  D. B
u
y 
4 Swiss franc contracts.





On October 12, a customer buys 4 M
a
rch 
Japanese yen contracts at .0043
79.  The contract size is 12,500,000 yen.  
O
n 
November
 1, he liquidates with a 50-gain per contract.  The 
commission
 is $65 per 
contract
.  His net profit is:  A $625.  B. $560.  C. $2,500.  D. $2,240.





There is no basis risk in hedging foreign currency.  A. True.  B. False.





Forward interbank trading in 
foreign
 
currency delivery 
is not as large as 
exchange
 trading of f
oreign currency futures.  A. True.  B. False.






In deciding whether to hedge a currency exposure in the futures market or with a bank, you must consider:  A. The size of the exposure.  B. The possibility of receiving margin calls.  C. When possible profits will be available for your use.  D. All of the above.





Interest rates in various 
countries
 have no effect on 
the
 
forward prices of their currencies.  A. True.  B. False.




U
s
e 
this 
information
 to answer questions 8-13.





An American clothing manufacturer contracts to buy 100,000 British 
pounds
 worth of 
British
 woolens to be 
delivered
 and paid for in pounds in November.  The spot 
British
 pound is at $1.8370.  (One futures contract = 25,000 pounds.)




If the clothing manufacturer wishes to protect himself against a decline in the value of the dollar, he would:  A. Sell British pounds in the sp
ot market.  B. Buy British pounds in the spot market and sell British pounds futures.  C. Buy 
British
 
pound
 futures.  D. Sell British pound futures.





If the clothing manufacturer wished to protect himself against an increased value of the British 
pounds
, he would:  A. Sell 
British
 pounds in the spot market.  B. Buy British pounds in the spot market and sell British 
pound
 futures.  C. Buy British 
pound
 
futures
.  D. Sell 
British
 pound futures.





If the clothing manufacturer decided to hedge 
in 
British
 pound futures, he would take the position of: A. 1 contract. B. 4 contracts.  C. 8 contracts.  D. 10 contracts.





If the manufacturer did not hedge 
his 
foreign
 exchange exposure, and on the date of delivery the British pound was $1.90, the additional cost to the clothing manufacturer would be:  A. $88,000.  B. $8,800.  C. $8,450.  D. $845.





If on the date he placed the order the clothing manufacturer had bought December pound futures at $1.8370, and on the payment date the futures had advanced to $1.90 and the spot British pound to $1.88, the basis would have:  A. Weakened.  B. Strengthened.  C. Stayed the same.  D. Not enough information to know.





The effect of the basis change in question 12 on the clothing 
manufacturer’s
 hedge would be
:  A. A profit.  B. A loss.  C. No effect.  D. Cannot be determined.





Which of the following applies both to foreign currency futures contracts and forward 
contracts
:  A. The 
contract
 is a credit investment.  B. Stop-loss orders are used to limit price risk.  C. The minimum contract size is $1 million. 
 
D. The 
position can be used to hedge foreign currency risk.





Foreign currency 
futures 
contracts
 are:  A. Cash settled on the last day of trading.  B. Settled by the delivery between buyer and sellers.  C. Settled by delivery to a clearinghouse account.





Currency swaps:  A. Do not exist.  B. Are an exchange-traded position.  C. Involve spot and forward positions in the interbank foreign currency market.  D. Are marked to market daily.





Purchasing-power parity is
:  A. The law that all currencies are equal.  B. Aimed at maintaining the standard of living in all countries.  C. The notion that the value of a currency is related to the amount of goods and services it will buy.





Covered interest parity holds that the expected return on a domestic security always equals the expected return on a foreign security.  A. True.  B. False.





An example of an exchange rate quoted in 
“American
” terms is $1.75/L.  A True.
  
  B. False.






There are no futures contracts trading on indexes of foreign currencies.  A. True.  
    
B. False.





Chapter 17: Stock Index Futures and Options





Use this information for questions 1-4.




On 
May
 10 an 
institutional
 investor holds a well-diversified portfolio of $1 million of equities.  He expects a downturn in the stock market.  If he hedges, he will lift his hedge on August 17.  Prices are as follows:




�
Index
�
September

NYSE Futures
��
May 10
�
68.25
�
68.75
��
August 17
�
60.35
�
61.50
��





If the investor anticipates a downturn in the stock market, he can protect his position by:  A. Buying more stock.  B. Buying bonds.  C. Buying call options.  D. Buying put options.





What was the basis on M
a
y 
10:  A. .50 over.  B. .50 
under.  C. 7.25 over
.  D. 6.25 over.





Assuming the dealer initiated a short futures hedge on M
a
y 
10 and lifted the hedge on August 17, the result realized on the futures transactions would have been:  A. A gain of 7.90 per contract.  B. A gain of 7.25 per contract.  C. A loss of 7.90 per contract.  D. A loss of 7.25 per contract.





What was the basis on 
August
 17:  A. 1.15 over.  B. 7.90 over.  C. 7.25 under. 
    
  
  
 D. 1.15 under.






On August 17 the future, with 
respect
 to the cash, was at a (an):  A. Premium.  
          
B. Discount.  C. Even position.






On 
September
 1, a portfolio manager expects to receive about $5 million during the next three months, which he intends to invest in common stocks.  He is confident the current strong, bullish sentiment will prevail and decides to lock in the present market level.  He could obtain this buy:  A. Buying stock index futures.  B. Selling stock index futures.  C. Selling stock index calls.  D. Buying stock index puts.





The 
value
 of the S&P 500 stock index futures contracts is $500 x the index.  The 
portfolio
 manager of a large 
institution
 wants to hedge a $6 million equity exposure.  Assuming the 
portfolio
 is perfectly configured to the S&P 500 Index
 and the S&P Index futures are trading at a price of 150.00, how many contracts are required for the hedge?    A. 160 contracts.  B. 80 contracts.  C. 40 contracts.  D. 60 contracts.





Stock index futures trading
 
in the U.S.:  A. Re
quire delivery of the underlying stock.  B. Requires cash settlement.  C. Permits either delivery or cash settlement.





The 
deferred
 months in stock index futures are usually at a premium to the cash index.  A. True.  B. False





A trader goes long 5 June V
a
lue 
Line Index futures at 128.50 when Value Line Index is trading at 127.65.  The futures contract unit is $500 times the index.  What is the value of the trader
’s futures position:  A. $62,725.  B. $318,625.  C. $64,250.  D. 321,250.





What was the trader
’s profit (excluding 
commissions
) assuming he closed out his position by selling 5 June Value Index futures at 129.75:  A.  $64,875.  B. $3,125.  
        
C. $5,250.  D. $64,250.






A trader is bearish on the st
o
ck market.  Therefore, he would:  A. Buy Value Line Index futures.  B. Sell Value Line Index futures.  C. Sell Value Line calls.  D.  Either B or C.





In August a spread trader belie
ves the market will rally over the next three months.  
The nearby December NYSE Composite Index future is trading at 67.15, while M
a
rch 
is trading at 68.05.  If the trader were going to put on a bull spread, he would:  
         
A.  Buy December NYSE 
Composite Index futures and sell M
a
rch 
NYSE 
Composite
 Index futures.  B.  Buy March NYSE Composite Index futures and sell 
 December 
NYSE Composite 
futures.  C. Sell M
a
rch 
Composite Index futures and buy June NYSE Composite Index futures.





Currently, stock index futures are traded only in the U.S., Japan, Great 
Britain
, and France.  A. True.  B. False.





A portfolio manager is short shares of vario
us stocks. He is concerned 
the market may rally 
before he can cover his position.  Therefore, he would:  A. Sell stock index futures.  B. Buy stock index futures.  C. Buy a stock index put.  D. A and B.  
           
E. B and C.





In the United States, options on stoc
k
 index futures:  A. Expire on week before the 
expiration
 of the underlying future.  B. 
Expire
 at the same time as the underlying future.  C. Can be used to deliver a basket of stock.





On the next-to-last trading day of the delivery month, a trader goes long 5 March NYSE Composite Index futures at 63.25.  That same day, the NYSE 
Composite
 Index closes at 64.05 and the NYSE Composite Index futures settle at 64.10.  (The contract unit is $500 times the index.)  If the trader sells out his position on the close, the 
result
 will be:  A. A gain of $2,500.  B A loss of $2,500.  C. A gain of $2,125.  D. A loss of $2,125.





The S&P 500 Index is:  A. Price equally weighted.  B. Value-weighted.  C. Return equally weighted.  D. none of the above.





“
Synthetic
” stocks can be created by combining:  A. A short position in stock and a short position in stock index futures.  B. A long position in stock index futures and a cash T-bill
.  C. long positions in stocks.  D. None of the above.





Stock index futures contracts are priced as a carrying-cash market.  A. True.  B. False.





M
odern portfolio 
theory 
divides
 the risk of components of common stock prices into market risk 
and
 stock-specific risk.  Broad-based stock indexes such as 
the
 
S&P 500 Index are used to hedge against:  A. Market risk.  B. Stock-specific risk.  C. Both types of risk.





If
 
dividends
 on the stocks included in the index underlying a stock futu
res 
contract
 increase, the cash-
futures basis will:  A. 
Strengthen
.  B. Weaken.  C. Remain the same.





A stock has a beta equal to 1.5.  It is considered to be:  A. Less risky than the market.  B. More risky than the market.  C. As risky as the market.





In stock index futures, the basis is affected by
:   A. Stock 
dividends
.  B. I
nterest rates.
  C. Traders
’ expectations.  D. All of the above.





The NYSE 
and
 S&P 
indexes
 are:  A. Weighted.  B. Unweig
h
ted. 








Chapter 18: 
T
he
 
Commodity
 Futures Trading Commission and its Regulation
 of Futures and Options Markets


Chapter 19: The N
ational Futures Association





The Chairman of the CFTC is selected by the Commission
ers from among thems
elves but must be 
approved
 but t
h
e
 U.S. Senate.
  A. True.  B. False.





In order to enforce its broad regulatory 
authority
, which of the following can be done by the CFTC:  A. Being its own court cases to stop violations of the Act, without 
having
 
to consult the Attorney General.  B. Bring administrative proceedings.  C. Ask the Department of Justice to bring its cases.  D. All of the above.





The Commodity Exchange Act, in settling out the CFTC
’s regulatory scheme, 
emphasizes
 that:  A. The CFTC has exclusive regulatory authority over all futures and options on futures taking place on an exchange. B. Exchanges have an 
obligation
 to regulate themselves.  C. The CFTC has oversight 
jurisdiction
 over the exchanges.  D.  All of the above.





The CFTC had 
legislative
 authority to regulate all transactions in foreign currency involving a sale for future delivery conducted in a CFTC designated 
contract
 market.       A. True.  B. False.





Who designates a commodity exchange as a 
“contract market
”:  A. The state 
government
 where the exchange is located.  B. The 
Secretary
 of Agriculture.  C. The Securities and Exchange Commission.  D. The Commodities Futures Trading Commission.





A regulated commodity exchange (contract market) must submit to the CFTC for its approval all bylaws and rules relating to setting levels of margin.  A. True.  B. False.





A contract market 
must
 have a 
procedure
 
for
 
settling
 
customers’ 
claims
 and 
grievances
 that meet which of the following standards:  A. Must be fair and equitable.  
   
B.
 Must be by arbitration.  C. 
Must
 involve volu
ntary use by the customer.  D. 
All of the above.
 






Which of the below-listed persons must be registered with the NFA:  A. Futures commission merchants.  B. Commodity trading advisors.  C. Floor brokers.  D. All of the above.





A futures 
commission
 merchant must prepare a computation and record which shows the amount of money, securities, and property belonging to its commodity customers and the amount held in
 segregated accounts for them and
 do it:  A. Monthly.  B. Weekly.  
      
C. Daily.






The following commodities have a speculative position limit fixed by the CFTC:  A. Soybean oil.  B. Stock indexes.  C. Crude oil.  D. All of the above.





Futures contracts for CBOT wheat (all months) are subject to a CFTC speculative position limit.  A. True.  B. False.





All but one of the following statement about 
“bona fide hedging
” are true.  Mark that one.  A. It is an exemption from speculative position limits.  B. It is not defined in the Commodity Exchange Act.  C. It is defined in the 
Commodity
 Exchange Act.





The definition of 
“bona fide
” hedging includes a futures position related to a cash position such as:  A. The amount of wheat a person is raising, or in good faith intends or 
expects
 
to
 raise, within the next 12 months.  B. A person
’s unfilled anticipated requirements for processing or manufacturing.  C. The 
purchase
 of T-bond futures to 
lengthen
 duration of a pension fund
’s assets, to match the duration of its liabilities. 
        
 D.
 All of the above.





Persons who hold positions in the futures markets as hedgers may not, at the same time, hold speculative positions in the future
s markets.  A. True.  B. False.




Under the 
provisions
 of the Commodity 
Exchange
 Acct
, any funds an FCM receives form a customer can be deposited in the firm
’s general fund account.  A. True.  B. False.





Customer funds held by an FCM that are in excess of that needed to fulfill the 
initial
 margi
n requirements in that customer
’s 
positions
 may be:  A. Deposited in an interest-bearing savings account.  B. U
s
ed 
as margin for other customers
’ accounts.  C. Invested in short term obligations of the U
n
ited 
States.  D. All of the Above.  E. None of the above.





When opening a futures account for a customer, an FCM
’s only obligation under CFTC r
egulations
 is to provide the customer with a Risk Disclosure Statement.                 A. True.  B. False.





CFTC rules require an FCM to send customers periodic written statements regarding the open positions and account balances for any account in which there has been 
activity
.  
Such reports are required on a:  A. Daily basis.  B. Weekly basis.  C. Monthly basis.  D. 
Quarterly
 
basis
.  E. Semi-annual basis.





Under CFTC regulations
, a floor broker is allowed to trade his own account while holding a customer order which can be executed at the same price.  A. True.  B. False.





Under some exchange rules, if a floor broker 
receives
 market orders from two customers, one to buy and one to sell the same future, both orders may be filled by being offset against each
 
other.
  A. True.  B. False.





Exchanges are permitted to rely on CFTC personnel to assure that their members follow exchange rules.  A. True.  B. False.





Which of the following is 
not
 appealable:  A. CFTC 
warning letters.  B. Orders from
 CFTC 
administrative
 
proceedings
.  C. Criminal sanctions from a proceeding 
under
 the Commodity 
Exchange
 Act.





Some violations of the Commodity 
Exchange
 Act are punishable by 
imprisonment
.               A. 
True
.  B. 
False
.






Trading in Treasury-bill futures is regulated by the CFTC.  A. True.  B. False.





Customers may seek redress of 
grievances
 involving CFTC rule violations either through the CFTC or through National Futures Association (NFA) arbitration or court action.





An account executive can place orders for a customer 
without 
a 
specific
 order from the customer provided the customer verbally ag
rees with this 
procedure
.  A. True. 
     
 B. False.




27. All registered commodity 
representatives
 may exercise control over 
discretionary
 
accounts
.  A. T
r
ue.
  B. False.






Changes in exchange rules fixing minimum daily price limits 
must
 be 
approved
 by 
the
 
CFTC.  A. True. B False.





CFTC reparation actions are limited  to claims involvi
ng less that $15,000.  A. True.         B. False





If a speculative customer delegates trading power of attorney over his commodity account to another:  A. It is necessary to obtain  the customer
’s written authority on a special document.  B. The approval of a partner or officer of the member firm is not necessary before opening the account.  C. It is not necessary to segregate that customer
’s funds.





Generally, under 
exchange
 rules, any loss resulting from an error or 
mishandling
 of an 
order
 for a customer must be borne by:  A. The customer.  B. The exchange.  C. The broker and/or commis
sion house.






An FCM is required to report each day to the CFTC all accounts, both speculative and hedge, that exceed the reporting level for a particular futures contract.  A. True.  B. False





Act considered offenses under exchange rules include:  A. Attempted price manipulation.  B. Disseminating false or inaccurate market information.  C. Trading by a broker 
systematically against the orders or positions of his customers.  D. All of the above.





It is possible for one person to be both long and short the 
same
 
future
 in the same commodity on the same market.  A. True.  B. False.





Stock index futures and futures options fall under the regulatory authority of:                A. The SEC.  B. T
h
e 
CFTC.  C. The Federal 
Reserve
 Board.  D. The SEC and CFTC jointly.





Excess of margin above 
maintenance
 levels but below 
initial
 margin levels may be withdrawn by the customer.  A. True.  B. False





Under the rules of an exchange, only one of the following is true:  A. A member may withhold a customer
’s order from the market for any reason he pleases.  B. If he wi
shes, a member may buy for his 
o
w
n account while holding an order from a customer to buy at the market.  C. A member may take the other side of a customer
’s order without the customer
’s consent.  D. A member may buy and sell at the same time as an 
accommodation
 for another broker.  E. 
A member cannot create 
fictitious
 transactions.






Before a seller can make delivery of commodities in satisfaction of his short market position, he must:  A. Issue notice of intention to deliver a specific amount of a stated grade of the commodity at a particular location on a date listed on the notice.  B. Prepare and issue to the receiver a bill for the amount of money owed.  C. Demand a registered check from the receiver for the amount due on the commodity to be 
delivered
.  D. All of the above.






An example of a hedging transaction, as recognized by the CFTC, is which of the following:  A. Sales of any commod
ity for future delivery to the extent that such sales are offset in quality by the ownership or purchase of the same c
a
sh commodity.
  B. Purchase of any commodity for future delivery to the extent that such purchase is off
set by sales of the sale cash commodity.  C. A and B.  D. None of the above.





Under CFTC rules, the amount of a commodity which may be hedged includes the amount which a producer intends to raise in the next 12 months.  A True.  B. False.





A person who wishes to complain of damages under the CEA Act or CFTC regulations has how long after the causal incident to file his complaint:  A. One year.  
     B.
 Two
 years.  C. Six months.





Which requirement does not apply to a discretionary amount:  A. Written authorization from the customer
.  B.  Prior notice to the customer on each new position taken.  C. Installing of each order by branch manager.  D. Written confo
rmation of each new purchase and
 sale.





An example of a cross-hedging under CFTC rules is:  A. Hedging 
peanut
 oil in soybean oil futures.  B. Hedging silver bullion in silver futures.  C. Hedging coal with coffee futures.  D. All of the above.





A person engaged solely in soliciting orders for the customers of a futures commission merchant is not required to be registered as an Associated Person.  A. True.  B. False.





Risk disclosure statements are required to be given to customers of:  A. FCMs.  B. Introducing brokers.  C. CTAs.  D. CPOs.  E. All of the above.





If registered as an Associated Person, an FCM employee may effect a transaction for a customer without a specific order or prior authorization.  A. True.  B. False.





The NFA is 
authorized
 to designate new contracts to be traded on a contract market.  A. True.  B. False.





Which of the following are not required to submit their disclosure documents to the NFA:  A. FCMs.  B. CTAs.  C. DSROs.  D. I
B
s.






For 
IBs
,
 the NFA is concerned only with their financial condition.  A. True.  B. False.





Ethical business conduct and high standards of commercial honor may be enforced by NFA on NFA members and associates.  A. True.  B. False.





The NFA Business C
o
nduct 
Committee may impose penalties of 
expulsion
 or suspension for a specified period, censure or reprimand; may issue a cease and desist order; and may impose a fine not to exceed $250,000 for each violation.  A. True.  
        
B. False.






NFA
’s major plans and priorities are 
established
 by:  A. The NFA Business Conduct Committee.  B. The NFA president.  C. The full NFA board of Directors.  D. The CFTC.





NFA requires
 Associated Persons of Introducing Brokers to take and pass the National Commodity Futures Examination.  A. True.  B. False.





The NFA does not have the authority to require associated persons of commodity trading advisors to take and pass the N
a
tional 
Commodity Futures Examination.  A True.  B. False.





The NFA
’s goals are to:  A. Strengthen industry self-regulation.  B. Provide uniform regulatory standards.  C. Reduce the cost of self-regulation.  D. All of the above.





NFA Rule 2-29 requires that no 
member
 shall make communication with the public which is:  A. Deceitful.  B. High-pressure.  C. Both A and B.  D. None of the above.





NFA R
ule 2-30 requires that member inform only certain customers of the risks associated with futures trading.  A. True.  B. False.





NFA R
ule 
2-29 requires that members, when making statements of opinion in 
promotional
 material, clearly identify all opinion as such 
and
 assure that opinions have a 
reasonable
 basis in fact.  A. True.  B. False.





NFA Rule 2-30 requires members to obtain from customers at least the following information:  A. Customer
’s true name, address, and occupation.  B. Customer
’s current  estimated annual income and net worth.  C. Customer
’s 
approximate
 age.  D. Only A and B, since it is illegal to ask a person
’s age.  E. A, B, and C.





NFA Rule 2-30 makes it clear that every customer should get the same risk disclosure document and nothing more.  A. True.  B. False.





Based on a review of information obtained from each customer, a member of NFA must determined if additional risk disclosure is required.  A. True.  B. False.





When rapid action is necessary to protect markets or customers, the President of NFA, in consultation with the Executive Committee, may take a member 
responsibility
 
actions 
against
:  A. Any member.  B. Any IB.  C. Any member that is not also an exchange member.  D. B and C.





In NFA arbitration:  A. Proceedings are informal.  B.  Parties may be represented by an attorney.  C. No appeal is permitted.  D. Awards of the 
panel
 may be enforced by a court.  E. All of the above.





If a
 NFA
 member
’s fees and charges are not determined on a per-trade or a 
round-turn basis, then for certain customers NFA guidelines:  A. Preclude charging any other type fee.  B. Require an explanation of such fees and examples in terms of fees charged in the securities markets.  C. Require an 
explanation
 of such fees and examples in terms of per trade or round-turn basis, including a reasonable range of prices if the comparison would vary widely.  D. None of the above.





NFA members are required to know their customers in terms of the customers
’ trading objectives and financial capacity.  A. True.  B. False.






































 



















































      















 



